
[Y�

'$)7$5�,67,/$+�

$V\QFKURQRXV�� ��3URVHV�NRPXQLNDVL�GDWD�\DQJ�WLGDN�WHULNDW�GHQJDQ�ZDNWX�

���WHWDS���

%DXG�5DWH�� � ��.HFHSDWDQ�DOLUDQ�GDWD��

%LGLUHFWLRQDO� � ��,QIRUPDVL�\DQJ�GDSDW�EHUMDODQ�GDODP�GXD�DUDK��

'HULYDWLYH� � ��7XUXQDQ��

'HYLDVL� � ��3HQ\LPSDQJDQ��GDUL�SHUDWXUDQ���

,QWHJUDO�� � � 6HOXUXK�EDJLDQ�\DQJ�SHUOX�XQWXN�PHQMDGLNDQ�OHQJNDS��

3HULSKHUDO� � ��+DUGZDUH�WDPEDKDQ�\DQJ�GLVDPEXQJNDQ�NH�NRPSXWHU��

3RUW� � � ��7HPSDW�NRQHNVL�XQWXN�PHQJKXEXQJNDQ�VDWX�SHUQDJNDW�

��GHQJDQ�SHUDQJNDW�\DQJ�ODLQ��

3URSRUWLRQDO� � ��VHEDQGLQJ��

5HDO�WLPH� � ��6LVWHP�SHPURVHVDQ�GDWD�\DQJ�WLGDN�EROHK�GLWXQGD�NDUHQD�

��ZDNWX�VDQJDW�WHUEDWDV��

5HFLHYHU� � ��3HQHULPD�GDWD�LQIRUPDVL��

7UDQVPLWWHU� � ��3HQJLULP�GDWD�LQIRUPDVL��


